B AYKEIOY AATEBPA

Tavtotnta dwipeong : P(x)=8(x)n(x)

Eém : S(X)—x +4x -1
n(x)=x2—2
v(x)=3x-1

Apa: P(x)=(X*+4x-1)(x* —2)+3x 1=
=X"—2X% +4x° —8x —x* +2+3x 1=

=x*+4x3 -3x® —5x +1

Tavtotnta dwipeong : P(X)=38(x)n(x)

Ebw : 6( )—2x +1
n(x)=x2+x—2

v(x)=x+3

Apa: P(x)=(2x2+1)(x2 +x—2)+x+3=

=2X 4+ 2 4P+ XP +X—2+X+3=
=2x* +2x3 —3x* +2x +1

Tavtomra Swipeong : P(x)=35(x)n(x)

Edd :8(x)=x+1

TE(X)=X3+X2 —2x+1
v(x)=2

Apa.: P(x)=(x+1)(x3+x2 —2x+1)+2=

=X+ -2 X+ X+ X2 —2x+1+2=
=x*+2x3—x*—x+3

Tavtotnta dwipeong : P(X)=38(x)n(x)

B3¢ : 8(x)=x"+1
n(x)=x2—x—2
v(x)=0, apod t0 P(X) drmpeitar axpipos pe o X +1
Apa.: P(x)=(x2+1)(x2—x—2)=x4—x3—2x2+x2—x—2=
=x'-x®-x?-x-2

223 5
Tavtotnta dwipeong : P(x)=38(x)n(x)+v(x)

E8¢0 : 8(x)=2x"+x+1
n(x):x2+3x—2

v(x)=0, apov to P(X) Swnpeitar axpiPodg pe 1o 2X* +X+1



Apa: P(x) :(2x2 +x+l)(x2 +3x—2) =
=2Xx 46X —AX® + X3 +3x2 —2X + X2 +3x -2 =
=X+ 73 +x-2



